

# 1. Θυμάμαι και συμπληρώνω την προπαίδια

του 2, 4 και 8:



$0 \times 2 = \dots\dots$



$0 \times 4 = \dots\dots$

$0 \times 8 = \dots\dots$

$1 \times 2 = \dots\dots$

$1 \times 4 = \dots\dots$

$1 \times 8 = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$



$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

$\dots\dots \times \dots\dots = \dots\dots$

# 2. Αντιστοιχίζω όσα αποτελέσματα είναι ίσα.

$8 \times 3 = \dots\dots$  ●

●  $(\overset{\dots\dots}{7 \times 3}) + 3 = \dots\dots$

$6 \times 6 = \dots\dots$  ●

●  $(\overset{\dots\dots}{2 \times 6}) + (\overset{\dots\dots}{4 \times 6}) = \dots\dots$

$10 \times 10 = \dots\dots$  ●

●  $(\overset{\dots\dots}{4 \times 5}) + (\overset{\dots\dots}{5 \times 5}) = \dots\dots$

$5 \times 9 = \dots\dots$  ●

●  $(\overset{\dots\dots}{5 \times 3}) + 12 = \dots\dots$

$9 \times 3 = \dots\dots$  ●

●  $36 + 26 + 38 = \dots\dots$

$8 \times 6 = \dots\dots$  ●

●  $(\overset{\dots\dots}{7 \times 8}) - 8 = \dots\dots$

$6 \times 3 = \dots\dots$  ●

●  $(\overset{\dots\dots}{9 \times 5}) + (\overset{\dots\dots}{6 \times 6}) = \dots\dots$

$9 \times 9 = \dots\dots$  ●

●  $(\overset{\dots\dots}{5 \times 7}) - 17 = \dots\dots$

